

(iv) For any $A_\alpha = \begin{pmatrix} \cos \alpha & -\sin \alpha \\ \sin \alpha & \cos \alpha \end{pmatrix} \in G_1$, we have,

$$|A_\alpha| = \begin{vmatrix} \cos \alpha & -\sin \alpha \\ \sin \alpha & \cos \alpha \end{vmatrix}$$

$$= \cos^2 \alpha + \sin^2 \alpha$$

$$= 1 \neq 0.$$

$\therefore |A_\alpha| \neq 0$, therefore A_α^{-1} exists.

Thus every element of G_1 has its multiplicative inverse.

Hence G_1 is a group.

Soln.

Q. Show that the set

$$G = \left\{ \begin{bmatrix} a & b \\ c & d \end{bmatrix} : a, b, c, d \in \mathbb{R}, ad - bc \neq 0 \right\}$$

is a group w.r. to matrix multiplication. Is this group abelian? Justify your answer. 3+1+1.

Soln. given that,

$$G = \left\{ \begin{bmatrix} a & b \\ c & d \end{bmatrix} : a, b, c, d \in \mathbb{R}, ad - bc \neq 0 \right\}$$

we now show that G is a group w.r. to matrix multiplication.

(i) Let $A = \begin{bmatrix} a & b \\ c & d \end{bmatrix}$ & $B = \begin{bmatrix} p & q \\ r & s \end{bmatrix}$ be any two elements of G . Then,

$$ad - bc \neq 0$$

$$\& ps - qr \neq 0.$$

$$\therefore AB = \begin{bmatrix} a & b \\ c & d \end{bmatrix} \begin{bmatrix} p & q \\ r & s \end{bmatrix}$$

$$= \begin{bmatrix} ap + br & aq + bs \\ cp + dr & cq + ds \end{bmatrix}$$

$$\begin{aligned}
 \text{Now, } & (ap + bx)(cq + ds) - (cp + dx)(aq + bs) \\
 & = acq + apd + bcq + bdx - acp - bdx - adq - bdx \\
 & = ad(ps - qx) - bc(ps - qb) \\
 & = (ps - qx)(ad - bc) \\
 & \neq 0.
 \end{aligned}$$

$$\therefore AB \in G, \forall A, B \in G.$$

(ii) Since matrix multiplication satisfies associative law.

$$\therefore A(BC) = (AB)C, \forall A, B, C \in G.$$

(iii) Clearly $I = \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix} \in G$, which is the identity element of G .

(iv) For any $A = \begin{bmatrix} a & b \\ c & d \end{bmatrix} \in G$, we have -

$$|A| = \begin{vmatrix} a & b \\ c & d \end{vmatrix}$$

$$= ad - bc \neq 0$$

A^{-1} exists.

Thus every element of G has its multiplicative inverse.

Hence G is a group.

and part (c): The group G is not abelian, for this we cite an example below:-

$$\text{Let } A = \begin{bmatrix} 1 & 2 \\ 3 & 4 \end{bmatrix}, B = \begin{bmatrix} 2 & 3 \\ 4 & 5 \end{bmatrix}$$

$$\text{Now, } AB =$$

$$BA =$$

$$\therefore AB \neq BA.$$

Soln
04/12/09 04
✓ Prove that the set G of all odd integers forms a group w.r. to the composition $*$ defined by $a * b = a + b - 1$, for all $a, b \in G$.

Soln \rightarrow Given that -
 $G =$ the set of odd integers.
 $= \{ \pm 1, \pm 3, \pm 5, \pm 7, \dots \}$.

Define a binary operation $*$ on G by,
 $a * b = a + b - 1, \forall a, b \in G$.
we are to show that $(G, *)$ is a group.

(i) let $a, b \in G$

$\Rightarrow a, b$ are odd integers

$\Rightarrow a + b$ is an even integer

$\Rightarrow a + b - 1$ is an odd integer

$\Rightarrow a + b - 1 \in G$

$\Rightarrow a * b \in G, \forall a, b \in G$.

(ii) let $a, b, c \in G$

we now have,

$$a * (b * c) = a * (b + c - 1)$$

$$= a + (b + c - 1) - 1$$

$$= a + b + c - 2$$

$$\begin{aligned} & \text{or } a * d, \text{ where } d = b + c - 1 \\ & = a + d - 1 \\ & = a + b + c - 1 - 1 \end{aligned}$$

Again, $(a * b) * c = (a + b - 1) * c$

$$= (a + b - 1) + c - 1$$

$$= a + b + c - 2$$